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Fillin the grid so that every row, every column, and every 3x3 box con-
tains the digits 1 through 6. Both numbers or pips could be used.
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Fill in the grid so that every row, every column, and every 3x3 box
contains the digits 0 through 9. Some cells contain two digits.
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Fill in the grid so that every row, every column, and every 3x3 box
contains the digits 1 through 9.
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9 5 Solution
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! Fill in the grid so that every row, every column and every 4x2 box con-
° tains the digits 1 to 8.
Numbers must be placed according to greater (>) and less (<) signs.
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[ | ] Fill in the grid so that every row, every column, every diagonal and ] Fill in the grid so that every row, every column, and every 3x3 box |
° every 3x3 box contains the digits 1 through 9. L contains the digits 1 through 9. The sum of the digits within each
= sub-region is equal to the specified number. Digits in a sub-region are =
= different from each other. =
[®) (@)
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[ | ] Fill in the grid so that every row, every column, and every 3x3 box | Fill in the grid so that every row, every column, and every 3x3 box [ |
° contains the digits 1 through 9. ] contains the digits 1 through 9. Cells with circles must contain digits
= The grey cell must contain even numbers, the white cells must con- 1-2-3, cells with squares must contain digits 4-5-6, blank cells must =
=< tain odd numbers. contains digits 7-8-9. =<
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| ] Fill in the grid so that every row, every column, and every outlined ] Fill in the grid so that every row, every column, and every outlined
J region contains the digits 1 through 9. ] region contains the digits 1 through 9. Some of the outlined regions
= will wrap between the top and bottom edges, and/or the left and
% right edges of the grid.
'g Start
N > 8 Solution Start
© 6]9]5/3]4]2]8]1]7 / 4|5 Solution
> 1 2 4 3 8[ 79 613[1]5[4]2 2 8|3 6 6]/7]9]2]4[5[3]1][8
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3 9 6 418 415|3]/1|8]|9|6|7(2
4
| Fillin the grid so that every row, every column, and every 3x3 box of | Fill in the grid so that every row, every column, and every 3x3 box
J both grids contains the digits 1 through 9. ] contains the digits 1 through 9. The two-tone extra-regions must
contain each the digits 1 through 9.
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[ | ] Fill in the grid so that every row, every column, and every 3x3 box ] Fill in the grid so that every row, every column, and every 3x3 box |
° contains the digits 1 through 9. Ouside digits must be inserted in the J contains the digits 1 through 9. All neighbouring cells with consecu-
-
i~ corresponding row or column of the contiguos box. tive digits have a thick border/dot in between. =
B $
= Start 2 ©
(V)] 41 6 3 . Start U=')
% 93 8 7517 Solution 7 Solution v
Ly 46 3 4/1/6(/8[5/9[2/3]7 1 5 2
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] ' Fill in the grid so that every row, every column, and every 3x3 box ' Put the number.s 1-9 into the triangular cells so that each of§large tri.arT- [ |
5 & contains the digits 1 through 9. Digits in the outside frame equal the . glesand every line (of any length, even uncontinuous) contain every digit {577
sum of the three numbers of the corresponding row or colum in the : : . i~
= contiguos box. (o)
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[ | ] Fill in the square with digits from 1 to 9 so that in each row, in each ] Fill in the grid so that every row, every column, and every 3x2 or 2x3
= ° column, and in each 3x3 region all digits are different. Some rows o box contains the digits 1 through 6.
2 and columns form correct arithmetic expressions reading from left
[} to right or from top to bottom.
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[ | ] Fill in the grid so that every row, every column, and every 3x3 box ] Fill in the grid so that every row, every column, and every 3x3 box [ |
° contains the digits 1 through 9. The product of the digits within each i contains the digits 1 through 6. Each digits appears as in a liquid
= sub-region is equal to the specified number. Digits in a sub-region crystal display, as shown in the example. Parts of some digits are al- 3
% need not to be different from each other. ready placed in the grid. o
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[ | ] Fill in the grid so that every row, every column, and every outlined ] Irregular: fill in the grid so that every row, every column, and every |
= ° region contains the digits 1 through 6. L outlined region contains the digits 1 through 9.
2 Diagonal: fill in the grid so that every row, every column, every dia- =
[} gonal and every 3x3 box contains the digits 1 through 9. =
[®)
-g Start o]
o Start 6 9 us,
9 Solution 9|5 [3] [7]6 Solution o]
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= > 6 2|5|1 3|4(6 8[2]7[6/49]3/1]5 o——
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v 4 5 1la 21516 3 7 9/ |5]6 5/78|9[2[6[1]3[4]9[7]5]6[82] M=
= 42[5|6 36/5/214 6318 1 al1 2715 5l0 0 a2 1 a]705 [P
4 214 35 9[7]6[3][5]1[8]2]4
9 6 8 4 8/5(2|7[4]9[3[1]6
4[1[3[8]2[6[5|7]9
2 3 » 2[4[5[1[3]7[9]6]8
7/6(1[4]9[8[2[5[3
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1 2
| ] Fill in the grid so that every row, every column, and every outlined 915 2|1
° region contains the digits 1 through 12.
2
(o] ] Place the given pieces into the grid without overlapping them. [ |
O Start J Then fill in the grid so that every row, every column, and every 3x3 box
= contains the digits 1 through 9. =
N 8 7 5 The four corner boxes of the finalized grid have been marked with dots [l
~ Solution on the pieces too. Q
— 6 53 7 2 ©
> 3[9/8]4]7]2/5]6]1 . o 5 >
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- 3 » 2|8/9[5]|3 7|4/1]6 ©
S
< 6|2[4]7/1[5 8[39 29 | ‘E’
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] Fill in the grid so that every row, every column, and every 3x3 box ] Fillin the cube so that every outlined region and every layer (as shown
o contains the digits 1 through 9. o by the double arrows) contains the digits 1 through 8.

In each 3x3 box there is a different rule to follow.

Digital: Digits are in digital form, as given below.

0Odd/Even: Grey cells must contains even digits, white cells must con- Start

tains odd digits.

Consecutive: All neighbouring cells with consecutive digits have a
thick border/dot in between.

Sum: Digits in a sub-region add up to the specified number.

Classic: No special rule. 8

Pips: Digits are given as pips, like on dominoes or dice, as given

Big/Small: Big digits (from 6to 9) are on cells with circles, small digits N
N

Solution

Cubic Sudoku =

below.

are on blank cells.

Inequality: The inequality sign between each pair of digits must
stand correct.

Pandigital: First two row of numbers add up to the number formed
on the third row.
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B |:| — = o contains the digits 1 through 9. Digits are written in word form and
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